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(1) Questlon No 1 |s compulsory - 0 | o
(2) Attempt any four questions out of remaining six questions.. @

(3) Assume suitable data wherever necessary and justify it.

(a)
(b)
(c)
(d)

(a)

(b}

@

(a)

(b)

Is it logical in source codmg to assngn Iess probable symbol lo strmg and more 20
probable ones shorter ? Explain. .

Define error control coding. Explain code rate, code efﬂCIency Hammlng dlstance
Define Random-Variable.. Explain CDF and PDF. .

Write a note on PN sequence generator. - <

How the capacity of a White Gaussian channeﬁ*ﬂculated ? Explam bandwudth- 6
S/N trade-off for the same.

:A.data;stream to be coded is-18. repeating. tarting with 1 _ 6
() Show how parsing is done in LZ egding+T this data.
s fif)eAf. number.of prefix used:is-8; shobfwthis data is. encoded. - . o
F.ar binary.data sequence. 1011004,sketwvayeforms of :— .., . 8

(i) NRZ(polar)
(i) BASK
(iii) BPSK ’Q
(iv) BFSK.
What are Cyclic codes ? h& are called sub class of Block codes ? Implement 10
a (7, 4) Cyclic code enc&wth g(x) = x3 + x2 +1 and show that the code can be
generated ford, = 1 and d, = 1011.

Consider a (7, 4) sys tic Block cade with parity check equatlons — 10
C, =a1€BaZEBa3’

c,=a, ® a,
c,=a, @ a,
where a@as, a, are message bits,
C,, C3, C5 are parity chick bits.
(i@d 'G' and 'H' matrices.
(i) nd code words for message 1101 and 0011.

(1ii)  For the received message 1100010, ﬁnd,the, syndrome and hence the transmitted

message.
(iv) Explain the encoder and decoder with black diagram.
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(b)

(iii) Show in each case what happens |f6% detected wrong|y

Explain 18I and ICl. What causes them ? Explain how they can be overc 2 8
Explain the QASK system w.r.t. transmitter, receiver block diagram and 86 ace 8

représentation.

Compare MPSK and MFSK. o T () | 4
Show how duobmary decodmg is done when mput {d(K) . 10
{0,1,1,1,0,1,0, 1, 1 ---me- }is’

(" Precoded and
(i) not precoded -

Explain QPSK with following points
(i) Offset and Non-offset QPSK.
(if) - Modulation' block dlagram ffs QPSK.

(iii) Demodulation block Q
sng

(iv) Power spectral“den& | space representation and Eucledian distance.

Explain with neat  diagram, DS/BPSK system. What is processmg gain and 10

Derive the e'xpressi‘a." fo jgnal to noise ratio of Integrate and Dump receiver filter. 10
jamming margin ?

Write short

(b bi algorithm

.
n any four :— 20
'(aﬁtra imit theorem.
aX) FH spread spectrum. -
) Eye pattern. - C ;

(e) Line codes.



